. THE GAUHATI HIGH COURT AT GUWAHATI
(THE HIGH COURT OF ASSAM, NAGALAND, MIZORAM & ARUNACHAL PRADESH)
Written Examination (OMR based Objective Type Question with Multiple Choices) for
direct recruitment of DUFTRY for the Judicial Academy, Assam.
DATE :09-11-2024 (Saturday) DURATION: 90 Minutes
TOTAL MARKS : 50 TIME: 10 A.M. to 11.30 A.M.

(Each question carries 1 (one) mark. There is no negative marking.)

1. Tick the correct spelling:

a. Occassion
b. Ocasion

c. Occasion
d. Ocassion

2. RAJ S wevvererrererernns than Rishi.

b. Smarter
C. Smartest
d. All of the above

3. 'Beating around the bush’ means:

a. A forest area

b. To avoid answering a question and stalling
c. Working very hard

d. Having a fight

4. ‘Apple of my eye’ means:

a. A very important person
b. Favourite food

C. A person you dislike

d. None of the above

5. What is the synonym of ‘Exasperate’ ?

a. Annoy

b. Brisk walking
Cc. Eat

d. Relax
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6. What is the antonym of ‘Perseverance’ ?

a. Determination
b. Tenacity

c. Doggedness
d. Procrastination

/. Fill in the blanks-

.......... Great Wall of China is one of the Seven Wonders of the World.
a.
b. An
c. The

d. All of the above
8. Fill in the blanks-

Football is .........cceceenen sport.

a. A
b. An

c. The
d. All of the above

9. Fill in the blanks-
The World War Il ...........ceeuue. in the year 1939.

a. Start

b. Will start
c. Started
d. Is starting

10. Fill in the blanks-
We s enenans at the news that Rahul failed in the exam.

a. Were surprised
b. Will be surprised
C. Surprised

d. Surprise
11. Which of the following is not a European country?

a. Denmark
b. Belgium
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c. Portugal
d. Bolivia

12. Who amongst the following Hon'ble Judges has been the Chief Justice of Gauhati
High Court? '

a. HonDle Mr. Justice A. Khan
b. Honble Mr. Justice D. Misra

c. Honble Mr. Justice T.S Thakur
d. Honble Mr. Justice A.S Bopanna

13. The football tournament, viz. UEFA Men'’s Euro 2024, was won by which country?

a. England
b. France
C. Spain
d. Portugal

14. The 'Dandi March’ was in the year?

a. 1929
b. 1930
c. 1931
d. 1935

15. The 'Battle of Plassey’ was in the year?

a. 1750
b. 1752
c. 1755
d. 1757

16. Which of the following is not a permanent member of United Nations Security
Council?

a. France

b. Germany

C. United States of America
d. Russia

17. The State Bird of Assam is:

White-winged wood duck
. Peacock

Cuckoo
. Eagle

00T o
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18. In which State is the Konark Sun Temple?

a. [ripura

b. Maharashtra
c. Karnataka
d. Odisha

19. Who was the first President of the United States of America?

a. Benjamin Franklin
b. George Washington
c. Bill Clinton

d. Joe Biden

20. The United Nations was formed in which year?

. 1945
. 1946
1947
d. 1950

0T

21. Who wrote the play ‘Hamlet™

a. Enid Blyton
D. William Shakespeare

c. J.K Rowiling
d. Salman Rushdie

22. What is the chemical formula of water?

a. H20:2
b. HO

c. H20
d. HO:

23. Who was the first person to walk on the moon?

a. Neil Armstrong
b. Wayne Rooney
C. Michael Owen
d. Marcus Rashford

24. Which country is known as ‘Land of the Rising Sun"?

a. Singapore
b. Malaysia

C. Japan
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d. Thailand
25. What is the study of time called?

a. Oncoiogy
b. Meterology

C. Horology
d. None of the above

26. Which is the largest country in the world?

a. United States of America
b. Australia

C. Russia
d. China

27. Who wrote the novel ‘War and Peace"

a. Anton Chekhov

b. Fyodor Dostoevsky
C. Leo Tolstoy

d. Ivan Turgenev

28. Who finished Runners-Up in the ICC Men’s T20 World Cup 2024?

a. Republic of South Africa
b. Australia

c. New Zealand
d. India

29. What is the name of the process by which plants convert sunlight into energy?

a. Photosynthesis
b. Respiration

c. Oxidation

d. Evolution

30. In which of the following year, the Olympics was held in an Asian country?

a. 1996
b. 2004

c. 2008
d. 2012

31. How many bones are present in the body of an adult human?

a. 206
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b. 210
c. 300
d. 250

32. What element is the main constituent of diamonds?

a. Oxygen
b. Carbon
c. Magnesium
d. Potassium

33. Who was the first Indian to win an individual Olympic gold medal?

a. Milkha Singh
b. P.V Sindhu

Cc. Mary Kom
d. Abhinav Bindra

34. Which country is famous for its pyramids?

a. Greece

b. Egypt
C. Turkey

d. Romania
35. What chemical element is the main component of human bones and teeth?

a. Calcium
b. Iron

C. Sodium
d. Magnesium

36. A father is twice as old as his son. If 20 years ago, the age of the father was 10
times the age of the son, what is the present age of the father?

a. 38 years
b. 40 years

c. 43 years
d. 45 years

37. What is 30% of 2507

a. /5
b. 50
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c. 100
d. 125

38. The speed of a boat in still water is 5km/hr. If the speed of the boat against the
stream is 3 km/hr, what is the speed of the stream?

a. 1.5 km/hr
b. 2 km/hr
c. 2.5 km/hr
d. 1 km/hr

39. A shopkeeper sold an article for Rs. 5000. If the cost price of the article is Rs. 4000,
what is the profit percent?

a. 20
b. 25
c. 30
d. 35

40. 5 years ago, a man was 5 times as old as his son. After 10 years, he will be twice as
old as his son. What is the present age of the man and son?

a. 30,10
b. 25,5
c. 35,5
d. 36,6

41. Look at the series: 50,45,35, 30,20...

Which number should come next?

a. 10
b. 15
c. 18
d. 16

42. What number should come next in the series: 200, 100, 50.....7

a. 20
b. 10
c. 15
d. 25
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43. Rishi is in the East of Rohan and Rohan is in the North of Ravi. Ramesh is in the
south of Ravi. Which direction of Rishi is Ramesh?

a. South-East
D. South-West
Cc. South

d. North-East

44. The age of father 15 years ago was thrice the age of his son. The present age of

the father age is twice that of his son. The ratio of their ages after 10 years will be:
a. 5:3
b. 7:4
C. 9:2
d. 9:4

45. A two-digit number is such that the product of the digits is 6. When 9 is added to
the number, the digits are reversed. The number is:

a. 16
b. 23
C. 24
d. 81

46. A batter scored 100 runs which included 3 boundaries and 8 sixes. What percent of
his total score did he make by running between the wickets?

a. 30%
b. 35%
c. 40%
d. 45%

47. A fruit seller had some apples. He sells 40% apples and still has 420 apples.
Originally, he had:

a. 588 apples
b. 600 apples

c. 672 apples
d. 700 apples

48. Which of the following number is divisible by 36:

a. 35718

b. 63810
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c. 537804
d. 3125738

49. Arrange the words given below in @a meaningful sequence.:
1. Youth
2. Death
3. Birth
4. Middle Age
5. Old Age
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50. Three candidates contested an election and received 92, 128 and 100 votes. What
percentage of the total votes did the winning candidate get?

a. 40%
b. 45%
c. 50%
d. 55%

KK KKK 2K KK KKK K KKK KKK 5K KK KK KK KK KK KKK KK

Page 9 of 9



